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BOOKLET A 

Instructions to Puoils: 

1. Do not turn over this page until you are told to do so.

2. Follow all instructions carefully.

3. Answer all questions.

4. Use a 2B pencil to shade your answers on the Optical Answer Sheet (OAS).

5. The use of calculators is NOT allowed.

Section Maximum Mark Marks Obtained 

Paper 1 (Booklet A) 20 

* This booklet consists of� pages (including this cover page).



Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. 
For each question, four options are given. One of them is the correct answer. 
Make your choice (1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet. 

All diagrams in this paper are not drawn to scale unless stated otherwise. 

1. Which of the following is four hundred and two thousand and thirty-one?

(1) 42 031

(2) 402 031

(3) 4 020 031

(4) 4 002 031

2. Which of the following is the same as 9070 m?

(1) 9 km7 m

(2) 9 km 70 m

(3) 90 km 7 m

(4) 90 km 70 m

3. The opening hours of a shop are shown below.

Kovan Phone Repair Shop 

Open Daily 

10.15 a.m. to 5 p.m. 

How long is the shop open each day? 

(1) 6 h 15 min

(2) 6 h 45 min

(3) 7 h 15 min

(4) 7 h 45 min

2 

□ 

(20 marks) 

(Go on to the next page) 



4. A tank was filled with 50 litres of water at 08 00.
Water flowed out of the tank from 08 00 to 12 00.
The graph below shows the amount of water in the tank from 08 00 to 12 00.
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Which one-hour period was the decrease in water the greatest? 

(1) Between 08 00 and 09 00

(2) Between 09 00 and 10 00

(3) Between 10 00 and 11 00

(4) Between 11 00 and 12 00

3 

� 
12 00 

(Go on to the next page) 



5. The table below shows the number of participants in an art class on Saturday and
Sunday.

Day Children Adults 
Saturday 16 24 
Sunday 20 24 

What is the percentage increase in the number of participants from Saturday to 
Sunday? 

(1) 10%

(2) 20%

(3) 25%

(4) 4%

31w 
6. What Is the value of 

10
- w + 3 when w = 2? 

(1) 1.2

(2) 3.6

{3) 7.2 

{4) 9.2 

7. The figure below is made up of squares. What Is the least number of square(s)
to be shaded so that the figure has one vertical line of symmetry?

I 

(1) 1

(2) 2

(3) 3

(4) 4

4 
(Go on to the next page) 



8. In the figure below, PQR is a straight line. AP= AQ = QR. LAPQ = 70° .

Find LRAQ.

R 

(1) 35°

(2) 40°

(3) 55°

(4) 70°

9. A, B and C are three points on the grid. Point B is south of Point A and LABC is 225°

In what direction is Point C from Point B?

A 

225°

( 1 ) North-East 

(2) North-West

(3) South-East

( 4) South-West

5 
(Go on to the next page) 



10. Miss Lim travelled 3.2 km in a taxi from home to the mall. Her taxi fare was based on
the charges shown below.

First km $4.80 

Every additional 400 m or less $0.20 

How much was her taxi fare? 

(1) $5.40
(2) $5.80
{3) $6.00 
(4) $6.40

11. Sam spent $42 of his money on a gift and � of the remaining money on a book. in
1 

the end, he had 4 of his money left. How much money did Sam have at first?

(1) $42
(2) $70
(3) $72
(4) $180

12. Umin, Ming and Raju each had some money at first. Limin gave Ming $2.50. Ming
then gave Raju $1.80. Raju then spent $3 on a pen. In the end, they each had $5. 
What was the difference between the amount Limin and Raju had at first? 

(1) $0.50
(2) $1.20
(3) $1.30
(4) $3.00

6 
(Go on to the next page) 



13. ABCD is a trapezium with AB parallel to DC. LADC = 100° , LAEC = 91° and
LABE = 52°. Find LDAE.

(1) 39°

(2) 41°

(3) 80°

(4) 89°

14. Mary glued some identical square papers in a straight line to form a length of

5.98 m as shown below. She glued the papers by overlapping one paper on the other

paper. Each overlapping part was 3 cm long. What was the number of square papers

she used?

5.98 m 

10 cm "' . . . . . .

• • • I I I • 

3 cm 

(1) 59

(2) 60

(3) 84

(4) 85

(Go on to the next page) 



15. Bala used some wire to form the figure shown below. In the figure, ABCD is a
rectangle and the 4 identical triangles are equilateral triangles. The area of ABCD is
162 cm2

.

B 

G 

D 
C 

What is the perimeter of the figure? 

(1) 72 cm

(2) 90 cm

(3) 99 cm

(4) 126 cm

Go on to Booklet B 












































































